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Part - I : Child Development and Pedagogy

1. An infant holds a toy initially using
his palm, as he grows holds it with
fingers. The development principle
that explains this ....

(1)  Development is predictable.

(2) Development is interrelated.

(3) Development proceeds in
cephalo caudal direction.

(4) Development proceeds from
general to specific.
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2. One of the following is ‘not a
characteristic of emotional
development during adoleseence:
(1) Generalised excitement.

(2)  Emotionalinstability.

(3) Fear and anxiety.

(4) Confusionawd uncertainty.
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A student studies hard to retain the
‘star’, awarded for her best
performance in class-as she was
told by the teacher ithat she will
loose the star if Ler performance
decreases. The reinforcement that
1s making thestudent tostudy hard
IS ...

(1) Negative reinforcement
(2) Positive reinforcernent

(3) Primary reinforéement
(4} ~Panishment
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A class VIII student helped her
classmate in learning English. The
transfer of learning that has taken

Solew

place is ....

(1) Positive

(2) Negative

(3) No transfer of learning
occured.

(4) Bilateral
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One of the following is suggested by
NCF-2005, with regard to learning.

(1) Learning should take place

within the class room only.

(2) Students should be passive to
acquire the knowledge from

the teacher.
(3)

Learning should be teacher
directive.

(4) Learning should be in the

wider social context.
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The physical factor that effects the
development of an individual.

(1) Temperature

(2) Food

(3) Hormones

(4) Light
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Heterogeneity of the/class room
shall be viewed by the teacher as
- -

(1) Source for learning.

(2)  Hurdle for stedents’
adjustment.

(3) Need for segregation of
studentsior class reom
transaction.

(4) Burden for teacler.
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A student of class V frequently
exhibits temper tantrum. This
indicates that the child has problem
relating to this domain.

(1) Cognitive

(2) Conative

(3) Affective

(4) Psychomotor
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9. A student who has not studied | 11. According to Piaget theory, a ciuld

properly, to cover his faults, blames
the teacher, saying that the teacher
has not taught properly, .... is an
example of  this defense
mechanism.

(1) Projection

(2) Rationalisation
(3) Compensation
(4) Identification
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10. Students of elass V could not/]
understand the lesson as it was not
organised sequentially. |

The factor of learning’ that
effected the understanding nFl
students is ....

(1) Personal.

(2) Environmental.

(3) Personal and Environmerntal.
(4) Neither personal nor
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attributing life to inanimate objects
g

(1) Object permanence
(2)  Animism

(3) Organisation

(4) Reversibility
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Idetitifv the correct statement from
the Tellowing :

(1~ _Teaching 1s an interactive
process, learning is a passive
process.

(2) Teaching is a passive process
learning is an interactive
process. =

(3) Both teaching and learning
are interactive processes.

(4) Both teaching and learning
are passive processes.
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13. If all the high schools are provided
with sophisticated educational
technology ....

(1) Teachers can be replaced
totally.

(2) One teacher can handle all
classes.

(3) Provision of ‘one teacher for
one class’ is sufficient.

(4) Teachers can not be replaced.

Gl SETToededs worEsRERE

NEpghe L ONER colioHeon® ....

(1) &gy 5:.?; R Rats e

(2) 3 adpuinds BUKBovNeUR
e Olieds

(3) ‘w5 LUHO3 3 &lrpgtely YDy
NaFBoed.

(4). &drgrosse Fon, 28 Saktivn.

14. A boy in yvour class alwayvs looks
confused and Indecisive. As a
teacher you would ....

(1) take decision for him.

(2) tell him to approach elders.

(3) provide him guidance to take
appropriate decision.

(4) ask him to /(Pollow\ “the
instructions of teachers.
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15. As per the ‘social constructivistic

theory of learning’, the role of the
teacher in the class room isa/an ./

(1) Demonstrator

(2) Instructor

(3) Facilitator

(4) Spectator
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16. The ‘plateau’ in the iearning curve

indicates)....
(1) Learning is ¢ompleted.

(2) _Learning bégan.

(2)/ Increase cpeed in learning.
(4)\ TempoOrary arrest in learning.
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As per Havighurst ‘Developmental
tasks’ are ....

(1) Social expectations

(2) Medical norms

(3) Learning interests

(4) Educational mile stones
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18. One of the following with regard to | 20. As per the Right of Children to Free

learning is more appropriate : and Compulsory Edugation“Act-
(1) emphasis on process and 2009, the child has thevight to get
memorization. free education, if his age. is
(2) emphasis on outcome and job between ...
placement. (1) 3-12 years
(3) emphasis on success In
examinations. (2) 4-13 years
(4) emphasis on process and (3) 5 - 14 years
outcome. W beda
- 14 yéars
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19. The stage of cognitive development |

Eﬂl.ll:]‘lﬂl'ﬂtf.f'd by Bruner which ¥ | 22.-To Tearn about the agricultural
characterized by child’s

representation of things and events ;‘:'usiac:tlces}e: Child moels furmers, ¢
in terms of non-verbal! “activities, yERENTE I R e

represents .... | (1) Self

(1) Iconic representation stage.

. : (2) Home
(2) Enactive representation
stage. (3) Community
H o .,
(3) Information réepresentation (4) Technology
stage.
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To conduct a teaching learning
activity, the teacher has to follow
this sequence ....

(a) identification of suitable
strategies and methods.

(b) assessment of learners’
capacities.

(c) evaluation of learning and
replanning.

(d) identification of learning

experiences to be provided.
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(1) b,d,a,c

(2) ¢ ,d,ab

(3) a,b,c,d

(4) d,a,b,c

‘Over learning’ leads to-....
(1) Increase in proficiency.
(2) Decrease in learning.
(3) Decrease in mematy.
(4) Causes disinterest.

(1) (SSendre Detetued.
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24, A Headmaster takes decisions i

by himself, this type of leadership ...
(1) Laizzer faire

(2) Democratic

(3) Permissive

(4) Autocratic
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A’teachér who is not well, wants to
talre rest,-out also thought of
attending the school as
examinations are approaching. The
centiict that the teacher is
undargoing .....

(1}~ Approach - Approach

(2) Avoidance - Approach
(3) Avoidance - Avoidance
(4) Approach - Avoidance
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One of the following should not be
done by the teacher while teaching
a lesson in the classroom.

(1) Using previous knowledge
and experiences.

(2) Use of appropriate method
and technology.

(3) Continuation of motivation
continuously.

(4) Teaching by giving more
importance to intelligents.
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A teacher has developed a five poirit
scale to know the studerits’
preferences towards digital
teaching. The tool developed by the
teacher is .....

(1) Observation sheet

(2) Questionnaire

(3) Check list

(4) Rating scale
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Children remember the colours o'
rainbow as ‘VIBGYOR’ uging this
technique of memory.

(1) Mnemonics

(2) Paired associated learning.

(3) Rehearsal

(4) Elustming
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All other-abilities’ being normal,

. based on 19 level, the children who

do aot 1all under ‘Children With
Special Needs’ (CWSN) among the
foliowing.

(1) “Childrén with IQ 0 - 20

(2)-. Children with IQ 30 - 50

(3)~. Children with IQ 90 - 110

(4)  Children with IQ 130 and above.
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According to Kohlberg, a child
shows respect for authority and
E‘{illluws the rules durin
(2)

------

Pre conventional level
Conventional level

(3) Post conventional level
(4) Inter mnventiunal level
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Part II : Telugu (Language - I)
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(1) odste non

—
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Part - III : English (Language - II)

(61-65) Read the passage carefully.

Child psychology is certainly not a
strong point with most Indian schools.
Why else would it inflict a double trauma
on a student faring badly in the pre-
boards by banning her from taking the
exams ? Often with total results as
evidenced by reports of student suicides
in the run-up to the board. Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on. This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. While the schools’

logic is that in order to attract talented’

students, they need to maintain their
performance records at high levels, the
assumption that a student faring poorly
the pre-boards will replicate this at the
boards is faulty. Chances are that the
student will be spurred to work doubly
hard. On the other hand, the thieat of
the department will almost' certainiy

impact her/his performance adversely. Gf

course, linking pre-boards{to the hoards
is only one of the problems with\ our
school system.

Now answer the following questians
choosing the right optisis.

61. Choose the word which |is most
opposite in meaning, of the word
‘spur’ as used in-the passage.

(1), depress
(2) ) enlarge
(3)/ actrvate

4 )\ sustain

TET-211-EM/TM [13]

Choose the word which is similar 1n
meaning to the word ‘replicate’ as
used in the passage.

(1) enhance

(2) achieve

(3) perform

(4) repeat

Which is the good news tor parents,

according to the passayge?

(1) Schools  will /take the
responsibility el preparing
students for the board.

(2) /Scheols will.enforce discipline
to ensure higher attendances
of stuaents.

(3) MNp students can be barred
from the boards without prior
cicarance from the CBSE.

(4)  Schools will provide study
racilities to the poor students.

Schools wanted to enforce

parformance-linked department in

order to ....

(1) attract better quality
students.

(2) get regular grant-in-aid from
the education department.

(3) provide better study material
to the students.

(4) make students aware that
they would aspire for their all
round development.

According to the passage parents

had to live with the threat of ....

(1) falling grades of their wards.

(2) linking performance of their
wards in pre-boards to the
“boards.

(3) not getting their wards
admitted in quality schools.

(4) schools creating traumatic
situations for their wards.
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(66-70) The following passage has five
numbered blanks. For each blank,
four alternatives are given. Identify
the correct option for each blank.

Men who are always _(66) about
their poverty, complaining of their
difficulties, whining (67) their troubles,
and thinking that _(68) in this world is
mean and poor, _(69) never get any
happiness out of life or achieve

_(70) success.

66. (1) muttering
(2) mumbling
(3) grumbling
(4) groaning

67. (1) over

(2) about
(3) with
(4) out
68. (1) alot
(2) lots
(3) over a lot
(4) their lot
69. (1) would L
(2)  will
(3) should
(4) may
70. (1) ®some
2V /a
(3 _the
td)  any
TET-231-EmM/TM |14]

i1,

72.

Booklet Code lAl

Identify the complex sentence from
the following.

(1) -

(2)

(3)

(4)

We read books but thev waich
T.V.

If you search for it in the
school, you wiil get it.

You go there or they \will not
give you. .

She (is not oonly good in
English but) glso good at
Maths.

He waoke up to hear the sound of

balls

....... in Lhe distance.

Choose the right option to fill

in theblank.

1)
(2)

(3)
(4)

clanging
banging
buzzing

whistling

Identify the phrase containing
Noun + Noun. :

(1)
(2)
(3)
(4)

strong light
shed light
a light source

a ray of light
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75. When Padma stood first in class,

76.

77. ldentify

78.

TET-211-EM/TM
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(a) Amrita is getting married
next month.

(b) Amrita will get married next
month.

Read the statements (a) and (b) and
choose the right option.

(1) only (a) is correct.

(2) only (b) 1s correct.

(3) Both (a) and (b) are correct.
(4) Both (a) and (b) are incorrect.

Rekha, out of jealousy,
(1) ate her heart out.

(2) lost her heart.

(3) poured out her heart.

(4) praised from the bottom of
her heart. -

I expect et a prize.

The underlined part of the
sentence is called a Noun phrase
because ...

(1) it is the object of the wverb/|
‘expect’. 1

(2) it contains a subject anda-l
predicate.

(3) it qualifies the noun. l

(4) it is independent.

the correct assive
pas

sentence.
(1) A nice house is/m:ad by \them.

(2) I am not fitted by my shoes,

(3) A Greek goddess is resempied
by Sriya.

(4) The furniture-wzas-broken up

for firewanoq;

They ought to he more sensible,

+++++++++

Cloose-the—correct question |

tag o complete the sentence.
(17 / oughtn’t ibey

(2} “shouldi’tthey
(3) “musn’tthey
(4)~_can't they

79.

80.

81.

82.

[15]

Booklet Code A [
L4

Choose the appropriate reply ta an
invitation.

(1) Sorry. I'm afraid I am net free.

(2) I was terribly sorry to hear
that.

(8) That’s very kind of you.

(4) Thanks, I'd love some:

This man g&n TV . said that

dinosaurs .......

Choose the later part of the
sentence whichis grammatically
correct

(1) /had.. beeirr » around for
250~mitlion years.

(Z)wepe about 250 million years.

(3. /were around for 250 million
srears.

(4) have been for 250 million
VEeArs.

One speaks / a strange dialect /
(a) (b)

where / I came from

(c) ()

The sentence is divided into
four parts labelled as (a), (b), (¢) and

(d). Identify the part of the
sentence which has an error.

(1) (a)

(2) ()

(3) (c)

(4) (d)

John hates women. He is a ....

(1)  misogynist
(2) polygot
(3) prodigy
(4) mercenary

TS TET 2017 Paper-2 Question Paper - M&S Booklet-B - https://tstet.co.in



83. 86.
(a), (b), (¢), (d) and (e), which are
jumbled.

(a) cashed on their internal rifts.

(b) entering these countries for

' commercial gains.

fe) and ultimately became their
rulers.

(d) the British slowly stepped into
the internal politics of those | gm
countries.

fe) and over a period of time,
gained total control.

Now identify the right order.

(1) (d), (b), (e), (a), (e)

(2) (a),(b),(d),e),(c)

(3) (b), (d), (a), (e), (c)

(4) (b), (d), (c), (a), (e)

88.

84. Identify the ‘one word substitute’
from the following.

(1) ride |

(2) participation ;

(3) successful |

(4) omnipresent

85. In the activity calledO¥$8ale]

o, ( . 89.
drawings’ used to develop speaking | %
skills of students, ... <

(1) One student \ passes. the l
information verbally to‘the
other from a graph./ picture
with a few gaps ana the other
tries to fill the/gaps.

(2) One student produces a
diagram’ ~fiom tke ) other
students! deSeription on a | 90.
given squared paper.

(3) The students zuéss what it is,
wheén the teacher draws
Something indistinctly on the
olaci:board:

(), The students draw the picture
based on the,clues given by
the teacher.

TET-211:EM/TM [16]
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Read the parts of a sentences

Al

—— =

Booklet Code

Remedial teaching is .....
(1) nothing but re-teaching.

(2) something where achievement
is expected to be very.low:

need not be highly specificand
need based.

more like a erasiicourse.

(3)

(4)

One of the features of Ref ective
teaching is

-----

(1) Predicting

(2) Clarifying

(3) Summarizing

(4) ~Cathering new evidences.
Listening. 1o/ public speeches

belorigs to

-----

VY / Focussed listening
(23 _Gist listening
(2) sAppreciative listening
(4}Casual listening

Another term used for graphic
organizers in English Language
Teaching is .......

(1) Information transfer
(2) Graphic Reading

(3) Almanacs

(4) Discourses.

One of the following helps us to get
a bird’s eye view of the book.
Identify it.

(1) dJacket

(2) Front page
(3) Blurb

(4) The preface
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PART IV(a) : Mathematics - Content

If log,,2=0.301, then the number

of digits in the expansion of 52!
18 s

log,, 2 = 0.301 eoxd 52017 @ay,
D50e:8' wode ey

(1) 1408
(2) 1409
(3) 1410
(4) 1411
2 1
If x= then Jx + — = .....
2+43 1
2 1
X = ,-ﬁ@lﬁ J-—+—u — R
2+ \*E e J;
(1) 2v3
(2) -2J3
(3 2
(4) -2

The number of pairs of natural
numbers, whose GCDis 5 and LLCM
is 105, is ....

Xaep, = D So8cdh £ 30 =108 e

(1) 1

(2) 2

(3) ,3

&Y /4
TWI-211-EM/TM

—_— e —

(17]

94.

95.

96.

The sum of all three digit hurihers
which are divided by 5, leave the
same remainder 4, is ....

2 ;:"ﬁ'f’g 73"...."",..-.1..- s 4 n:*;; DaFrtose Dok

RROTT
(1) 1,98,540
(2) 99,270
(3) 88,963
(4) 1,77,926

Let A and B be ariy.two sets. Then
whicivof the following is false.

g s e wsfe,

PA, Bwnvm peel) E ;._E:ﬂ E‘dﬁib:}

&oby?

(1) a=(AnB)=A-B
(A-B)Ju(AnB)=A
(A-B)(B-4)=0
(A-B)UA =B

Let A be the set of all points on a
circle with centre C and radius
r > 0 and B be the set of all points
on the straight line passing through
C. Thenn(AnB) = ....

C Fopnw %00can r > 0 ovggsm Ko
e 2o Deispe B0 A Sstain C v
sy 2ot Db Dodoe H2:0 B wond
n(AnB)=....

(1) 0
(2) 1
3) 2
(4) oo
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97. If sinf +sin0 =1,

then1+ cos“0+cos*@ = .....

g ., -
sinfl +sin“60 =1,

coxd 1+ cos20 +cos?O = ...

(1) 2
(2) 1
(3) 0O
(4) -1

98. InaAPQR, right angled at Q,
PR + QR = 25 and PQ = 5.

The value of tan P 1s ....

ook, DEIS e

(1) *‘?'
24

@ =
7

(3) i
12

: 12

(4) —5‘

TET-211-EM/TM

(18]

99.

100,

Jooklet Code | AI
A

The angle of elevation of the topof
a building from the foot of a tawer
is 30° and the angle of ¢levation of
the top of the tower from the foet of
the building is 60°. If the tower iz
50 meters high, then the height of
the building in metres, is ......

-4 f{i‘@ﬁ SESN Hpoa LE\FETIND
& S0 30° BoBclin\ FEnESN| ood
ROy & Shranss B0° A pusy oy,
63 50 Dot o, SRt ool S8y

{f.;uu:rﬁa} .....

(I~ 5
(2)

(3

. | ":-ln {
Jj‘|| & S P 1B /N\S
)

(&)

Tet b,ce {1,2,3,4}. If the equation

x2 + bx + ¢ = 0 has real roots, then
the number of ordered pairs (b, c)
is ....

b, ce {1, 2, 3,4}, x*>+bx+c=0

BRo¥SrEDd TS Sareressd, (b, ¢) s

SIS Boig
(1) 7
(2) 8
(3) 9
(4) 10
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If S, is the sum of the first ‘%’ terms
of the arithmetic progression a,, a,,
S m? a
(.
ag, ..... and == = —, then -2 =
" n ﬂﬂ
Qyy Aoy Agy ooeee S SOSRG Doo8y, Dooed
S m*
‘R’ Bore Daobis S Bobades S’" = —
3

L)

Tt it st ﬂu e

2m+1
1

(1) a1

oy P
2n+1

3) 2m -1
2n-1

{4] 2”]‘ |
2n-1

If the linear equations

3x + by +a = 0and

ax -2y + 12 = 0 representthe same
straight line, then ¢% 4 b% = 1.\

3x + by + a = 0 obass

ax —2y + 12 = 0.t 3o Jsiesterres o3
soedane 3pasva b ...
(1)
(2) S
(34

(4) ™\ 25

TET-211-EM/TM
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103.

104,

[19]

Booklet Code A
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If three coins are tossed at a time,
then the probability/ef getting
atleast two heads, is ....

(1) E
8
5
(2) 3
@)
N8
W/
N/ 2
Tf the mean of first ‘n’ odd natural
2
numbers is L, thenn = ....
121

i ¥ ot . - o
2o ‘N’ B e Sope wollicdl Mt

;,1?21 sond, N = ....
(1) 11

(2) 121

(3) 12

(4) 144
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If AP and AQ are tangents drawn
from an external point A to a circle

with centre C and radius 8 ecm and
AC=17cm, then AP + AQ = ...

(1) 15cm.
(2) 25cm.
(3) 30c¢m.
(4) 36 cm.
C Zagses 8 mouie. TrgRes Ne SHoad
wrimdiodioy A tesd LN HEtew AR, AQ,

AC = 17 0.5 coasd AP + AQ = ....
(1) 18 De.lo.

{2;' 25 n.-ﬂ‘n.q.r
(3) 3032
(4) 36 e
If the points A(1, -2), B(3, 1) and

C(-5, 2) are vertices of a triangle,
then the point of intersection of the
side BC and the bisector of the angle
ZBAC s .....

A(l, =2), B(3, 1) 5:8a3 Q(-H\Z)
E-..-:...agjf_d X (Sdom -E:-:::».-.:i. BC\sesa0
sadainy ZBAC S0 5500050 Sad deiss
Do
| ‘IW
2 Nt 3/
(1 S
i} E & s =
(2) L 3 O Y
i“ ! 4 |
(R2) G S
(. 2/
(] 4 A
@ 33/
TET-211-EM/TM
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107.

| 108.

Booklet Code ‘ A l

If the slope of the straight line
Joining the points (- cos 0, sifi'6)
and (cos 0, — sin 0) i

1.} i 5 > i
cos* 0 + cos” 0 sin“ 0 + sin<o

Fa n
LU{E*:E}. then ecosh = ...

(- cos 0, sin 0) ¥:8cs (0s8'9,\— sin (

Dotogpens ¥ SEE0 Wyl gl

cos® 0 + cog? 0 sin“ S+ sin® 0

(qﬁ & ﬂ::i}-zzg ) estsd, cos O = ..

|
(1) E
(H_ M

Z
£y 1
I.E; E
(4) 1

ITAD, BE are medians of AABC ar
F is a point on AC such that DF
parallel to BE, then CF : AC = ...

AABC & AD, BE e Soto wogiyio S
obodia BE % ssrettoem DF é&cten

AC o8 £=|:|_a=", F I_-L.'-.-.--".E, CF: AL ="
(1) 1:2

(2) 1:4
(3) 2:3
(4 3:4
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109. If the areas of three adjacent faces of

110.

111,
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a cuboid are A,, A,, A;, then its
volume is ....

L5 AUasse Glao, L naers aToes A
o o o il B 1s

Spe i T e
Ay, Ag, @b, O EaiS0rete

JAAA,

AjAyA,

(1)
(2)
(3)  (AALA,)

(4) (AAA;)°

A hemisphere and a cone have equal
bases. If their heights are also equal,
then the ratio of their curved surfaces

7%

(1) 2:1
(2 321
(3) .,,.Ezl
(4) ,,.;'E:l

The curved surface area of a right
circular eylinder of base radius.‘r’
is obtained by muitiplying its
volume by ....

- ¥ = 5 F . >
- T Rt L. ol T bt Prer LR e =
%F?&&Unca ' PRl ST UJJJA:: pot [t 2

T Folouts SNBSS,

Mardatneii Bl
(1A A
0
(2N
r'
- =r
¥ O '
N |
e
(4 5
n
TETRZ231-EM/TM
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113.

114.

[21]

Booklet Code A.J

M— -

The diagonal of a rectangie is 17 em
and its area is 120 c¢n{“ The

perimeter of the rectangle 1s ..

(1) 23cem

(2) 32cm

(3) 30em

(4) 46cm

25 OY Sbotngp-BepINsba Y/ 0.,
: &% defees 120 55, Belo. wond
85 DEbEy Dol

(1) 23 2o

(2 782 nals

(4)

Itra school, the ratio of the number
of boysto girls is 7 : 4. If there are
140girls, the total number of
students in the school is ...

] ll. n_.‘-. ot N - " LY L r
N T e k) t.:_‘mu'.n.-"b,

T < ¥ -, == lt
pomed® 140 3508 olSessd) w8 has

RO Do%;
(1) 245
(2) 285
(3)- 385
(4) 345
A sum of Rs. 12,500 amounts to

Rs. 15,500 in 4 years at the rate of
simple interest. The rate of interest
1 E

o 968 4 Bovyoe DRl

8. 12,500 cizes ©.15,500 Zeote

< o 5

SO, Wil =
(1) 6%
(2) &%
(3) 4%
(4) 3%
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Al

Methodology

“The pupil categorises polynomials
on the basis of their degree”. The
academic standard achieved by the
student falls under

(1) Problem solving

(2) Reasoning proof

(3) Communication

(4) Connection

“omG eiroiiooio T BONFeo sl
B8¥0ouaNs  zelis TR QoL
Ml RES ML

(1) ‘».ﬁ»:ﬁ“"g b Ja

(2) =ooeros - UEASms

(3) wgmsunde

(4) esSsbeus

The approach adopted <n/ the
curriculum of mathematics at

secondary level in Telangana state

TB i

(1) Topical

(2) Concentric

(3) Spiral

(4) Concentricand Spirad.

114,

l_i18.

Suemrs  Ovjedt \foRtlN Trow  NedB

Do ErrosSTouelols B50

(1) =Q%

{i":; :;Zi.-.ﬂlg

(33 NaByw

(4) :ﬁ:'y 205 B0
TET-211-EM/TM [22]

Learning by doing and learning by
living are the main principles.of .

(1) Heuristic method
(2)
(3)
(4)

Laboratory methnoa
Project method

Analytical method

sndcine ooy T Shute Jo8cie Blotow

i 73:»:_;55"‘ o\whgen &3 SRz B BRe.

(1)

r_-g el -:‘l.r""\-
e -\"bqr} i b
' -

(2).) BSEriTe S50
(7 RE¥C SIS
{.‘i] :'_"::::'r- '-:E-E'

The‘evaluation tool that assesses

students, academic performance
‘5 THEE

(1)
(2)
(3)

Aptitude test
Intelligence test
Achievement test

(4)

DEMGIT SEPGSUND DB Boboy Wed
LaPCEE e

Diagnostic test

(1) 55
(2)
() ;e Vsl

(4)
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119. The main aim of recapitulation in | 120. The teaching programme in whick

Herbartian model of lesson student participates actively for sel{
planning is .... learning at his own pace js .....
(1) to know the extent of (1) Projects
objectives of the lesson
achieved. (2) Programmed learning
(2) to present the concept. (3) Laboratory work
(3) to assess the pre-requisite _ _
knowledge. P 1 (4) Micro teaching
(4) to supervise the learner. oo Tes dPe-Leitita Tusd Songd
:,-r;wﬁ._;,:;,;,ﬂ 35:5@,:.;-.:;5 sy R0t et tet =L ) .’.‘ﬂfﬁ:‘m:ﬁ» Dol 17'“;.:1 b lerm

G0, ooy G

(1) 2oocic SN, o SSUH
3=

(2)  oPoEEs Dudeuio

—
A
_.,‘l"
1"!,
i
b,
=N
3
(7 4
E!-

(3)  YrueEs 8oy

(4) wirsiton Stamioute

TET-211-EM/TH (23]
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Science - Content

Choose the correct pair of short
term crop.

(1) Jowar-Green gram.

(2) Green gram-Black gram.
(3) Black gram-Red gram.
(4) Red gram-Jowar.

235 S0Y Bowe S3% wbls Lietsd.
(1) £% - 2%

(2) 88 - Doonm

(3) Sowsiss - 08

Identify the odd disease based on
the group of causative agent.

(1) Typhoid

(2) Cholera

(3) Tuberculosis
(4) Swine-flu

- 1+

(1) SPFcxld |
(2) s

(3) Eobad

4) wS-ur |
These are called ‘microscopic
policeman.

(1) Erythrocytes

(2) Blood platelets

(3) Neutrophils

(4) Monocytes

3N WF PRI oot

(1) 49 E5%ero

e T e T

(G e 06

@) >ty

124, Animal with sharp ingisors ..»

(1) Lion

(2) Rat

(3) Cat

(4) Dog

BN Lebzres (Incisors) re\sytoy

(1) laoime

(2) el

(3) =g

(&) -';TJEL.

125. Find theancorrect statement.

(1)/ /Abiotic and biotic factors are
structural components of
céosystem.

t2) ~Detritus food chain starts
from litter.

(3) ‘Aphids’ occupy “2nd trophic
level” in the food chain.

(4) Herbivores occupy  first
trophic level in a food chain.

00 RS 10Beted.

(1) £ Selaie 205 zUpes, ebbo BEE
C‘&-.'JJJEL ;E"ét‘ﬁ‘ﬁé'a‘ C TR LI,

(2) Promss oSty Mooty Hatetd
Srhise (E8) oed
EPOctinsg sl

(3) wotss Fooned® Dobey Bold
:"}‘...,..ﬂ_'w..-::.:' & Sowron

(4] -.?:":r-‘ar_, i m:&:iﬁ ..';T-‘-:"‘n“.’a.::.'«:.- e
ﬁbﬁﬂ:m.-ft &ourcas.
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126. The cell-organelle which helps in

manufacturing of lipids ....

(1) Golgi complex

(2) Chloroplast

(3) Smooth endoplasmic
Reticulum.

(4) Mitochondrion

Lo bairdl 63 Sereric

(1) ™ sedse

(2) o5l

(3)  wenop wobls Eugres

(4) wSrodond

127, The stage in mitosis in which

128.

chromosomes are aligned at the
equatorial plane of the cell.

(1) Prophase

(2) Metaphase

(3) Anaphase

(4) Telophase

SoSPend® SRrshoee Yooy K
ol &6

(1) s 5%

(2) =&
(3) seow s

‘Edema’ is related with ....

(1) Digestive svstem
(2) Respiratory system
(3) Nervous svsterx

(4) Lymzhatic System

‘SRt T AT Bt EEAND.

(1) &5 88
()Y &g W
BY o
(B TuSeo e
TET-23:1/EM-TM

——— . —
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129. Water reaches top of the tal)trees.

130!

[25]

due to the phenomenon ...

(1)  Transpiration

(2) Respiration

(3) Photosynthesis

(4) Guttation

g Sored® Dt Jpd el S pdck o
atoed.

(1) &30

(2) =gsd3a

(3) Boeamisg socimx 3o

(4), Qossrne

Match’ the—animals with their

exeretory\products and choose the
corcect answer.

I. Urea (A) Freshwater fish
Il. Uric acid (B) Frog

III. Ammonia (C) Snake

(1) 1I-B, II-C, III-A

(2) I-A, II-C, III-B

(3) I-B, II-A, III-C

(4) I-A, 1I-B, III-C

I, ardor  (A) Ssoded OB
II. corgriee  (B) 5%

II. carpair (C) e

(1) I-B, II-C, III-A

(2) I-A, II-C, III-B

(3) I-B, II-A, III-C

(4) I-A, II-B, III-C
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This is a modified stem.
(1) Carrot

(2) Radish

(3) Potato

(4) Sweet potato

28 EPPolo Dol oo
(1) =38

(2) Sooged

(3) wometoed

(4) oSenssees

Smooth muscles are found in ...
(1) Arm

(2) Leg

(3) Heart

(4) Alimentary canal

ooy ¥edicres e %80 ¢Piie

(1) o

(2) e

(3) rocd

(4) LEE.'J’E:

Find the time'peiiod-of the wave,

whose freauency-is 400 Hz.

134.

135.

136.

400 wEEE Sunpe e Gy wuEs
SR, S Red.
(L) 0.0032.s
27 00011 s
(31 0.0025-5
(4) ~.6044 s
TET-211/EM-TM 126]

Booklet Code

A

Which of the following Ariction has
self adjusting force ?

(1) Fluid friction
(2) Static friction
(3) Sliding friction

(4) Rolling friction
308 TS wookon BEHT weet BN Moo
(1)

BT 26

(2) %@ﬁ Sadien
(3)  erdods Soge
(4ot o

The-minimura/ distance from real
mbject 1o a real image in a concave
miyrer i\..

), B e -f‘id;;,ncﬁi crEaiiegd, du @odowrnl
:’1:(‘,'35 e ﬁr'-}'-.-.:., [ e

N
2) 2f
3) f/2
4) 0

We feel warm after finishing our
bath under the shower on a hot day,
is due to ....

(1)  Humidity

(2) Condensation

(3) Ewvaporation

(4) Freezing

o Gwed® oo Bhn bowyd w8 I,y
G ouitsXy Tl

(1) = wge

(2) rodsteo

(3)  wrapgiie

(4) $odgsse
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The lens which can form real and
virtual images in air, is ....

(1) Plano concave

(2) Plano convex

(3) Biconcave

(4) Biconvex

meE® L eloin Logy BoOlowuie JHEW
Se¥es

(1) Besbtu Suwred

(2) oo Sopmy

(3) Coswrzd

(4) Clepmd

Find the length of the conductor
which is moving with a speed of

10m/s in the direction
perpendicular to the direction of ]
magnetic field of induction 0,6T,.if\|
it induces an emf of 6V betawveen the
ends of the conductor.

(1) 0.6m

(2) 6m

(3) 1m :
4) 12m

0.6T c.m‘.‘.u'.::-.?.r";_.ﬂt& Lo |

TS O Sodeser BV Sbimer we
SOcuedd of S ¥aSRd.

(1) _0.6%s.

(2) )6 .

(3) {1 .

(4) N2\,

139.

140.

127]

Booklet Code ‘ A '

The boiling point of Argonis ....

I E :
"-1"-'_1:‘# h:'- \;ﬁ I|.I‘.h-II.-J:l.":.-I' e :‘Lﬂ
W

- -

(1) -183°C
(2) -186°C
(3) -196°C
(4) -193°C

Poweisupply to ot home from the
eleztric.poie will' be interrupted due
to /formation “wi the metal oxide
layer/ en the electric wire. The
metalioxide is ...

Fiectric wire damages.
Electric wire breaks up.
Works as electrical insulator.

None of these.

(3)

(4) 28
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141, Arrange the following in the
increasing order of their pH value.

(a) gastric fluid
(b) milk of Magnesia
(¢) blood

(d) lemon juice

=i ']'_"{ H-' o Y - S
Cod WD p g el 'E-ilﬁ‘if-l:

(1) a,b,d,c
(2) a,d,b,c
(3) a,c,b,d
(4) a,d,c, b

142, In the electro magnetic spectrum,
which of the following rays bhave

more wavelength, is ....
(1) Gamma-rays

(2) IR-rays

(3) X-ravs

(4) Radio-waves

prad, ~

) ) l".‘q%‘ = . & .;n'f ,'I‘:"-"‘-
Eu-'iﬂi-if o e R ot L2 has #lﬂﬁﬁ

TETZ11-EM/TM

(28]

143.
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Element with atomic number 15
and mass number 31 is present
in ...

(1) Group 15 and Period 4
(2) Group 15 and Period 3
(3) Group 5 and Period 3
(4) Group 5 and Feriod 4

SRR Dopy 10 Wolelda (Bigope/ dey

31 m e Sorelommanl

s
(1) 155 ) 4% <o
(2) , 159 god, 35 30l
(3) iy, 3o Sl

& - " 8 V|
(A) 85N di/etant

. We get Silver metal (Ag) in the form

of precipitation by the reaction of
dicyaioargentate ions with this
poiwder, is ...

(1) Aluminium dust
(2) Copper dust

(3) Magnesium dust
(4) Zinc dust

= L E- bl Lo Bt T
SR Bots  edPacHs  dr  OPged
50:Tol0d Ag &Y enis trved
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Al

-—-—-J

Booklet Code

Miethodology

Formative evaluation is done ....

(1) Before starting the

instruction.

(2) During the process of
instruction.

(3) After the completion of the
term.

(4) Before admission into a
COULlse.

SR ROE SoPcholitio? la SNodico

(1) Slomss Svefotac® Sasely

(2) S0 atorany St

(3) b o ol

(4) Shud® Tunxsd Besess

Incorrect statement with regards te
Audio-visual aids.

(1) They motivate the studenis.

(2) They are not accordance with
the principle of concrete to
abstract.

(3)  They speed up learning.

(4} They help in presenting which
can not be se¢n with un-aided
eve.

S Foe SUbrSintacts Lawolol

el juheR

(1) =2 Sphdeom pct~ * 0

(2) =~ \urte ™NOL claroeai’ on
SR W TedUhA Ty S =t T

1.:3: :-:dl ‘;;:E:-:l.:"lli: :l!‘v='ul'= ::mih'uh-ﬂ

(44, 2N IS whEn oun Losoni
SrSpETies,

TET-231-EM/TM

1

147. This is not a suitable roie for a

148.

science teacher.

(1) Facilitator

(2) Financer

(3) Manager

(4) Counsellor

50 Lk Y SPPERI CIn SE T
(1) BB

= i E
(3) Tweawo

When—a student stopped using
nlastic/covers after listening to the
lesseii ‘Synthetic fibres and
plastics’, the objective achieved
is/....

(1) Responding

(2) Valuing

(3) Characterisation

(4) Organisation

¥ LoD EySDo :*;:‘w ket Do
GBI ut;m;a TS @i LiAPTL, T
SoKnesonsd, PHoBed of ga
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149. We can not say exactly that

construction of knowledge taken
place in the situation.

(1) If the student reported the
concept taught by the teacher,
either in the class or in the
examination, without any
mistakes.

(2) If the student invents new
things by applying his
previous experience.

(3) If the student defined the
concepts by discussing in peer
group and with his previous
experience.

(4) If the student applied the
learned concepts In new

situations.
B ($o8 Scibynd® b Joyeaios w0icll
PenBoT VB0,
1) &g S°9olW \ YaNp
( 5 - -
Iorgbaes  Jgrodd Erad S50
L~ Lo = (] - m— L ) -
a'j'l..lr;“ &11 HEE{J;? '“E"-"‘“\'E:-J:

(2) S Yrogegorn, INaimAad, SO

(3) 20 WpERIGTR  FNEIAel,
watoed (| Gen  wrabubd

(4) ool egiedy TTRiels BIBD

Sesched® Dnadrionuyte.
-

Booklet Code I “%'_ll

150. Which of the following statemernt is

not correct relating to science kits 7

(1) These kits act_like small
laboratories.

(2) These  kits \ are useful in
schools ~where therg are no
laboratoties.

(3) These kits-are Jdesigned to
carry anywhere easily.

(4)</These kits-are designed for
teachers.

., 5w, . st Aty
(1) Ui SWETE W mwSTATTCmOn

(2) parmross B0 JoTes’ Sr odsw
CRSURSEST oL,

(3) 2%a3m ooforr SRS G2
eSos B edles Srareboundid.

(4) ©: Sd%e adguaine  SWU%
Srarcboundng.
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